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931) The start of the horizontal
grid reference - read it
from the map. 

2) Imagine the line has been split into 10
equal pieces. Count how many equal spaces 
along the X is.

3) Put the �rst 2 numbers 
together - 932

4) The second part of the
grid reference - read it
from the map.

5) Imagine the line has 
been split into 10 equal 
pieces. Count how many 
equal spaces up 
the cross marking 
Legoland is. 

6) Put the second 2 
numbers together - 747

7) Put all 6 digits 
together to get your 6 
�gure grid references -
932, 747. 

6 Figure Grid references - step by step guide


